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EX o0 YAF2(FF)
<t 3% (mm) 3.000
ratEaE (kg 200
R (m/min) 10
FRROENY (mm) 10,300
EX o0 YAFI(FF)
~tiE(mm) 3,000
ratEaE (kg 200
R (m/min) 10
FRROENY (mm) 10,300
2 ¥R RHAE(TF)
<t 3% (mm) 8,000
ratEaE (kg 100
R (m/min) 10
FRROENY (mm) 10,300

O oy > e
D INUINEYAY R—ILA INRUEIYR
RAOY—2
EX R T iEmm) [ RS e (k) R E(m/min) [ROEY (mm) [[EE
NPE | 18,090 300 5 10,475 A
A9 18,090 320 10 10,475 4
=3R200 - ¥
8 18,090 JE 32600 5~60 10,475 X
—X¥F5 | 18,090 900 10 10,475 h¢
BBEARSR4| 18,090 1200 5 10,000 =
=3R200 ~ Y
BT 18,090 B %600 5~60 10,300 I
hE| 18,090 320 10 10,300 h¢
—X¥F4 | 18,090 320 10 10,300 h¢
=3&200 ~ v
w6 18,090 1E 2600 5~60 10,300 h{
=200 - ¥
5 18,090 132600 5~60 10,300 X
BBEARSR3| 18,090 1200 5 9,750 -
HWE3 18,090 320 10 10,300 1
—xF3 | 18,090 320 10 10,700 1
=200 ~ Y
B4 18,090 & 52600 5~60 10,300 1
=200 ~ Y
B3 18,090 & 52600 5~60 10,300 1
BBEArSR2| 18,090 1200 5 9,750 =
2|25 | 22,000 200 10 10,300  |PAFH45R 1
2 18,090 320 10 10,300 1
—X=2 | 18,090 320 10 10,700 h{
=1%200 N AE—h—EH% v
w2 15,000 12600 5~60 11,500 (YA 1
BBEARSR1| 18,090 1200 5 10,950 =
=200 - 3
YN 18,090 12600 5~60 11,500 4
HE 18,090 320 10 11,500 Y
—X=1 | 18,090 320 10 11,500 v
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280
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1380
900
600
620
590

240
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B

3,000

~t3E(mm)

200

HEHEELE k)

10

SR E (m/min)

10,300
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REa(EF)

B

8,000

~t3E(mm)

100

HEHEELE k)

10

SR E (m/min)

10,300

FRROENY (mm)




